
Neerslagreacties
Al3+



Aluminiumsulfaat

O 2Al3+ + 3SO4
2-
 Al2(SO4)3

O Geen neerslag



Aluminiumnitraat

O Al3+ + 3 NO3
-
 Al(NO3)3

O Geen neerslag



Aluminiumchloride

O Al3+ +3 Cl-  AlCl3

O Geen neerslag



Aluminiumbromide

O Al3+ + 3Br-
 AlBr3

O Geen neerslag



Aluminiumcarbonaat

O 2Al3+ + 3CO3
2-
 Al2(CO3)3

O Geen neerslag



Aluminiumwaterstofcarbonaat

O Al3+ + 3HCO3
-
 Al(HCO3)3

O Geen neerslag



Aluminiumnitriet

O Al3+ + 3NO2
-
 Al(NO2)3

O Geen neerslag



Aluminiumchloraat

O Al3+ + 3ClO3
-
 Al(ClO3)3

O Geen neerslag



Aluminiumfosfaat

O Al3+ + PO4
3-
 AlPO4

O Geen neerslag



Aluminiumfluoride

O Al3+ +3 F-
 AlF3

O Geen neerslag



Aluminiumjodaat

O Al3+ +3 IO3
-
 Al(IO3)3

O Geen neerslag



Aluminiumsulfiet

O 2Al3+ + 3SO3
2-
 Al2(SO3)3

O Geen neerslag



Aluminiumhydroxide

O Al3+ + 3OH-
 AlOH3

O Neerslag



Aluminiumsulfide

O 2 Al3+ + 3S2-
 Al2S3

O Neerslag


